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| PART - B : Psychology | Y
81. Complete the following :
If I had had money,

(A) I would invest in the business
(&1 will buy a car

82. Choose the suitable question tag.

(B) I will have deposited in the bank
(D) I would have donated

Nobody called, ?
(A) do they (BY didn’t they (C) did they (D) don’t they
83. Choose the correct passive form. Ok10)
The manager appointed many office assistants, B

(A) The manager were appointed many office assistants
(B) Many office assistants appointed the manager

(C) Many office assistants were appointed by the manager
(DnThe manager was appointed by office assistants

84. Choose the appropriate word for the following : T EORURR:
“any building of a past age, regarded as a historically important place”.
(ANExhibition (B) Laboratory (C) Monument (D) Sanctuary
85. Fill in the Blank.
If your friend always thinks the best will happen, she is
(A) Humorous (B) Optimistic (CY Creative (D) Frank
86. Choose the correct meaning of the idiom “a couch potato”.
(A) A clever person (B) An important person
(C) An idle person (DN An ideal person

87. Choose the option which has logical relevance.
L. ‘Fine’ means healthy
‘Fine’ means the amount paid for punishment.
II. In the above sentences, the word ‘Fine’ is the example for ‘Homophone’.

(An I is false 11 is true (B) I'and II are correct
(C) Tis correct 11 is incorrect (D) I'and II are false
88. Match the following : :
a) Beauty ) Adverb  E38
b) Pretty II) Noun Ees
c¢) Neatly III) Conjunction
d) Unless IV) Adjective

A)IVIHNI BymIiviim @InImriivur @yI11v I
89. Fill in the blank with the suitable conjunction.

You cannot go abroad you get the visa.

(A) still (BYuntil Q) if (D) otherwise
90. Fill in the blank.

It is our responsibility Sparrows.,

(A) to save (B) saving (G)to saving (D) for saving




93.

94,

95.

96.

97,

98.

93.

100.

e —

. BIPUPISED STHSID Qemehanay; 9

©) g2 (D) sapuii

(A) peD) + wrhsey (gB]) 67@950; +5;7GEDI_LJ.LI 3
(O Ba1 + Spiseh Sl
D) meny + whsad
FTOESGHT @)6vsemms GBeus Gsintls®.
By QL e_& feralser
(D) aflewens Gsnenasar

¢@@@@’.,‘56v&6v’- @40
(A) ABEGSCSML_igem
(C) uetys Clsmengss
malencor e,'nlsf)cvng .Qafrr,lb@,mm_mg SETL_fla

(8) Aot Bapss Osigner  (B) ghens waman pepst Ligds @i

(Cniouet BwiSemma (D) udrels@L ysssnser amalssmt
O 2 W15 )LD Csm_engs ST E3E
(AN GBebenevudsy SBpsaaleyi Lo UMLpG et g@

‘wmBs @allub’ eldiumas Qsmi 2

&onl 1 : allewertlwées Qg

&P 2 1 OuwGlgéss Qami

(A) enpmy 1o, by 2 sougy (Brawpmy 2 o, smpay 1 soumy
(C) oy 1,2 &l (D) Sivengsitd sy

‘Qaufleoe sn1Ger eugy eTg|b ugmugGLy’ - @)eieutguied ‘LpmugG’ GTGTLIS GET
Cummmer wrg ?

(A) 8presr QummGer (BN Guevner QlummsGar

(C) OuwerGwaner GurmGar (D) QunmGer
‘GLSEL B -e1ahn HLApEOIFTORSETET, HuGvF Cenvemevs Csis
(A) Visa (B) Migration (C) Immigration (D), Passport
Uesrou@sid a1@igGlenpaeants Qumssgis Elg.El

1) eraflgy - 1) ypeueurr EE

2) msed - i) il

3) wpplui - iii) epped

4) @oeuewir - iv) e mpeleri

(A) i iv i i

(B) iv i i i

G di iv i

M) i iv i i
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101. The following question consists of two sets of figures. Figure A, B, C, D constitute the
problem set, figure 1, 2, 3, 4 constitute the answer sel. There is relationship between A and B.

Establish a relationship between C and D by sclecting suitable figure from the answer set. |

AN | e—~ e
1= 7 RN =)
A B C D 1 2 3 4
(A) 1 (B) 2 €3 (D) 4 %3;?;@;

desiaupid Caerafluilsh @)esa® alsioner euenguL_misar o drerer. uengLIL_ g A, B,

C, D arciuen Gadrafa@slu L miser. cuengu_niaer 1,2, 3, 4 et uB&EGIW

uLrmisar A wpmib B ellneg @eLGu gn Qriy oserg. Qer@éslulL

Q5198 F 55 CUnmsswre ugene Gsin0ls®sg C wpmib D adler @en_Gw

2_6irer QgL v BimicueyLh. ( 1
\

EE ] RICED

B C D 1 2 3 4

| A) 1 (B) 2 © 3 (DY 4
‘E 102. Which letter will be placed at the question mark (?) to complete the pattern ?
Il o
|
AZ | BY a5@ b
? [ CX Ees
(A) DK (B) DW (C) DL (D) DE
Caeals@Ril L @)L_§86 6158 T(pSEI55maT moudseD @B uLgens Blemay
Oleunu wprguib
AZ | BY
- ? | cx
(-
i (A) DK (B) DW (C) DL (D) DE
it
li‘;i!
ﬁl!i
e
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103. Acc g ¢ glV§n diagram Wwhich one of the following statements is true ?

Magicians

Historiansh@\:‘i’ Philosophers

B
(A) All historians are magicians Ee:

(B) Some: magicians are philosophers as well as historians
(C) All hxstgmaqs are either philosophers or magicians
(D) Some historians are philosophers

Qasm®&sLiu L UL $B)6H epauLh BlpaETBeTar 6168 JYMsd 2 ey ?

/[

] \ ——> ssgiuung
ugeTDO T Awii

(A) erévevr eugendPI@Aw LD wEDrams) peurt ¥
(B) 8o wpSraunSser gsgeuaunBunseyh, augrdpr@Rugtaayh 2 crereri ¥
(C) erevaum eugunpprRAlwmLd @ery ssguaun@wnsGour evevg LiSTunGwnsGCeug

wHBgeuns

2 aerei¢
Dy Pev sugeunppn@ilwiser gsg1eueuns e 5
104. If A is to the South of B and C is to the East of B, in which direction is A with respect to C ? o)
(A) North-East (B) North-West (C) South-East (D) South-West B

A arettug) B &g Qspansayb, C aietug B é@ @ypsstaad @mssme, C g
Cunmigseueny A ebs Hamsulled 2 ereg)
(A) u@psE  (B) wlBuwpg  (C) Gzt Biypss (DY LisdGopE

105. Choose the Venn diagram that depicts the correct relationship among the three groups.

Dogs, Pets, Cats EYE
(A) ®) o © (D) ' !E%g
QO

e GussalaLGu sllurer 2 paas £155MéGL Oy auIuLSmss
Cs i 015 (H&5aLb.
BMUISGET, QeevevLifgrenllEer, LjenaTsan

, B ©) (D)
& @D O O v.

=
=



106.

107.

108.

109.

For the following question, various forms of a letter series arc given with one term missing
as shown by (?). Choosc the missing term out of the given alternatives.

HUA GTZ FSY ERX ?

(A) DWQ (B) DQW (C) WDQ (D) WQD .
Waraum aflernaded, LabGayy WSl Qs Liyser o srerear. (@5 afl Lo
TIPS gIdsHeman LN6HT6umHLD DS aellelmig Caing a@saab EYE

HUA GTZ FSY ERX? DaW ﬁj’g@

(A) DWQ (B)DQW (C) WDQ (D) WQD
R is the brother of A. S is the sister of P. A is the son of S. How is R related to S ?
(A) Son (B) Brother (C) Uncle (D) Father

R etietucui A aeir #Gangpi. S ereiucur P ueir sGansdl. A eratueur S 6T LOGGHT.
RD@ S p@d ercirar o pey wpenm 2

(AN waeir (B) #Cansoi

(©) wnwesr (D) siens

A watch reads 4.30 of the minute hand points East, in what direction will the hour hand points ?
(A) North . (B) North-West . (C) South-East (D) North-East

PG ®& sYsMSF wenfl 4.30 1L ORDG, O wer Hipée CrreuGHSTe,
wesflper 6155 Heansamw Grraa) IOIGEIET

(A) auLée (B) a_Gupe

(ONOsaa8ps (D) e &psE

If the code for ‘STABLE’is 1 2 3 4 5 6 and code for ‘LABOUR’is 53 4 7 8 9, then what

will be the code for ‘BOTTLE’ ?

(A) 472256 (B) 472556 (C) 472265 (D) 475526

e GBI ® iy Liien_ufleh ‘STABLE' eréinigeir @mS@ 1234 56 ysayih, ‘LABOUR’
TS @BII® 534789 ysaud @@iidsr, ‘BOTTLE? GTGTUSET GmIUI(® eT6es 2
(AY1472256 (B)472556 (C)472265 (D) 475526

Raja moves from his house and walks 10 feet towards east, turns right and walks 3 feet.

Again he turns right and walks 14 feet. How far is he from his house ? oLi0
(A) 4 feet (B) S feet (C) 24 feet (D) 42 feet ﬁ"%}i

ongn geir oI elGpg Slps@ Crred 10 oy ks e UVELIDLD F(HLOLY
3 @1y BL SR, Lomyguth oyeue UGVGILDLD B(HLbLS 14 219 BL_ESmmeir. ‘9’@693)7

afll" 19 S\p8 GT6UeuaTey FITLONS 2 eeTmair ? X b
(A) 4 21 BY'S iy © %o O Reny
b .
1 e
)
W il — RIEL I

]

(-
(F~
PRy



111.

112.

113.

114.

-23- )
Find the number of trjy

ngles in the figure below,

(A? 10 (B) 12 ©) 13 (D) 14

Bpangyip UL-gGle) TS G e e WPECanemiiser o ererer

é a5 2
E]%,,i ‘

(A) 10 (B) 12 (©) 13 Dy 14

Which of the dia

gram represent the stat
> d ements ?
— Some musicians are teachers

— Some teachers are players, but
—No musician is a player.

Y
&1 oo B
(A) & ® | D © O O| @

HeieupLh UL 86v a1y CsnRésLILL Beror euns@wiisemar GOSEDg ?
- 8l @enswenioliLinenriaer WS Mwirger . |
- 8o gy QNwiser aflevemun @ oIyiser, QTG

- 61h% @mgwmwuunmr’ra;@w aSlemarwn” @ adgiser @)evenev

(4) &} ® 3D ©l00] o

Check the odd one out.

1, 8, 65, 64

A) 1 (B) 8 (C) 65 (D) 64
SMSR(BEGLD eTemana QOEET PGS E¢E

1,8, 65, 64 B e 1k Elsgﬁ

(A) 1 (Bf'8 (©) 65 (D) 64

Ramu ranks seventh from the top and twenty sixth from the bottom of a class. How many
students are there in a class ?

(A) 34 (B) 32 (€) 31 (D) 33

@b eu@ L6t I Ll g wedey grep CedlGhgl aprag @)L smsud SPwHs!
QBuss yprug @LS@msud ClupmidTenTi. GG TSSMET LoTERTOUTEGT

2_GITeneur. 1 \L '
(A) 34 (BY 32 (©) 31 ()33 106 Q)
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115. Find the missing character from the given alternatives.

16 12 21 9 10 ?
| (A) =21 B) 12 (© 32 D) 22_ .
desraupLd aamsafles Cserads @M. eress 618 eTein) ST Pwed ?

16 12 2] 9 10 yex
Il 21 20 gggi
) A'N bLE:
||
r K 'S
I 14 15 16

(A) 21 @B) 12 ©) 32 @5 b2
116. If 80 is added to 80% of a number gives the same number. What is that number ?
(A) 500 (B) 400 (C) 800 (D) 600
| @1t erevesshisit 80% 2.1_cir 80 sods FL_ OGN 2GS 6T HlL_SRDG). DB GTewT cTeieT 2
| (A) 500 aee  (BJM400 1. 3¢ (C) 800 (D) 600

—

117. The next term in the sequence ™
15,17, 20, 22, 25,... is

(A) 28 (B) 29 (C) 27 (D) 26
15,17, 20, 22, 25,... ereirm Clgm_Mer oBss 2 miiy
(A) 28 (B) 29 (CY 27 (D) 26

d 118. Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is ¥ 750,
| then the sum is

} 38 (A) T 3,650 " (B) 3,750 (C) ¥ 3,450 (D) % 37,750

GwIGarsh e GBI L Csrenas@ 10% et g oI588)6h 2 gy am@BaEer s055)
X 1508 saflau ywnes Q&gyg’@mrr@’g{gcir & Ognens

— WG G
(A) % 3,650 (BHY 3,750 j_hi (C) ¥ 3,450 (D) 37,750 ’Eﬁ%}i
130
119. 45 planes were produced in 5 days by a company. How many planes will be produced in 18 days ?
(A) 125 (B) 324 (©) 162 D) 115

RO WIS 2.HLSH GCFuiyLb Blmieuenid 45 ewnerrisamer 5 B sefleb o HLsE)
CF8ng eraflen, ibplmieuens 18 prc sefled 2 puSs CFiyh aNwnerrisedssr
ereTenfldens ereiresr 9

\

|
1S
) (A) 1925 (B) 324 (6’162 (D) 115 . 27
: : ~ ‘\‘x‘ .:_’L-.-:
EAME o TRER o x> = 7 ‘
| “SV\K/ 50'3’32_‘_7."5
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120. L Every rational number is a real numbers.
[I. Every real number is an irrational number.
(A) 1is correct (B) 1l is correct
(C) both I and IT are correct (D) both I and IT are incorrect
I e eSS T QLosGluwessT. %
II. @aibleun OowQwessTesb aNESUPDT GTGuIT. Ele:
(AN erairug) il (B) 1l ereirLigy &l
(©) I wpmyd 11 @uem@ & (D) I wopmyd 11 @ues@> DI
121. Find the odd word.
(A) Arrow (B) Sword (C) Knife (D) Axe
gdﬂi@@és@m wumigamsanws semE ULy
(M/‘ QL] (B) eumeir (C) 558 (D)*t?esm_mﬂ
122. Arrange the words in meaningful sequence. ,
1. Weaving 2. Cotton 3. Cloth 4, Thread
A) 2,4, 1,3 (B) 2,4,3,1 (C) 4,2,1,3 (D) 3,1,4,2 e C
e S . o B
UMTTSESEEET ITSSULPSTeNT auflenauiley BH&Sa LD D
1. Qpsay 2. U@®BSH 3. glewfl 4. mrev
(49'2,4,1,3 (B) 2,4,3,1 (C) 4,2,1,3 D) 3,1,4,2
123. There are five different houses A to E, in a row, A is to the right of B and E is to the left of
C and right of A, B is to the right of D. Which of the house is in the middle ?
(A) A (B) B ©cC D) D
- Awsae E auewg @@ afersiled gis a@s6r o drered. A areig) B et auawBgiid, E
“erairg) C 6 @)L Sauith, A el auawBlguLb 2 Grang. B areitg D 61 auawBleb 2 6ireng.
s oI@ p@adled 2-cengl ? ' ESE
“fh ®) B ©cC oD B
124. In a class of 45 students, a boy is ranked 20" when two boys joined, his rank dropped by
one. What is his new rank from the end ?
(A) 25 (B) 26" (C) 27 (D) 28
45 woreweuiiseir LIg.S@L auGLILID @@ Ppieuet 206ug Gors Cupmyerenrnasr. @)resst(h)
Snyeuriser GebsGUng Seuisl S7 uflans SETDI GDBSICTS). s Suiley @) BB
Seuggl YHw speuflens ereser ?
(A 2 th th th y 20 l7
® 25 (B) 26 (Cy 27 (D) 28" . o
Bt
a7
20
La e
Al =]
29
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125. Among 5 weight lifters P, Q, R, S and T, Q lifts more weight than P, but lifts less weight than
T. Two of them can lift weight less than P, S docs not lift minimum amount of weight. Who
among them lifts the maximum weight ?

(A) T (B) R (©) Q (D) S
5 uengné@uaniseflcy (P, Q, R, S wppb T) Q wjauit P @ Wl iP5 e aw
Gn&&Spm. :L%LW"GD. T @ a9 Gepaunes aen_anw SNEGHDpni. Jjeuisefley

@@mr‘r P oI @eopis eten_enw SN68 (pY.uyLb. S GODHSULF eTenL_anW
gnésailsvencv. @)ouisaley, wmi IIPFULF eTenL_enw FN&EGH DT ? o
| (A) T (B) R © Q D) DT > > P &
126. Match the following : %ggl
i) Co-efficient of range 1)4:3 @ &
ii) Co-efficient of variation 2)3:2
} iii) 32:24 3) Zx100%
1 X
Bt o L-S
1v) Ratio of 3 m to 200 cm 4 ——
L+S
(A) 4,1,2,3 (B) 2,3, 4, 1 (©) 4,3, 1,2 (D) 1,4,3,2
Qurrggs. 300
1) o965s0lap 1)4:3
i) rpur’ @&6swp 2)3:2
cee o V) el 39‘]
iii) 32:24 Y A L 2
iv) 3 1 G@th 200 G518 d@th o cirer DL 4) If:_z' S
+
(A) 4,1,2,3 (B) 2,3,4,1 (©'4,3,1,2 (D) 1,4,3,2

127. Construct algebraic equations for the following verbal statement.
Ravi’s father’s age is 5 years more than 4 times of Ravi’s age. His father’s age is 33.
(A) 4x-5=33  (B) 5x+4=33 (C) 4x+5=33 (D) 5x—4=33
deireu@d umiOomflé spmise@ CunGgswnes Qupseils FLGTUTR 2 euTsEs.
gaflulleir oyLiumellesr euwg gefluilel auwuBeir 4 oL BIGLGT S 208 gL L el Lig) <2} (&Lb.
gefludlesr yiLimaflesr euwgy 33 <y &tLb.
(A) 4x-5=33  (B) 5x+4=233 (C) 4x+5=33 (D) 5x-4=33 -

@

The triangle with perimeter 12 cm can be EYE
(1) An equilateral triangle 5
(ii) An isosceles triangle )
(A) Only (i) is true (B) Only (ii) is true
(©) (i) and (ii) are true (D) (i) and (ii) are not true

12 Q5.8 sppenaysirar wp&Ganemtrissr LNeToaumLOTn SjenLoWweVTLD.
() 9w swuss WsCsmeTons IjenLoweVTLD.

(i) @06 QWswuss WP&CaETeTIONS SjeLDWeTLD.

(A) (1) LL@EW &M (B) (ii) @b &M

(CY (i) ommuh (ii) &M (D) (i) wpmb (i) seumy




q@
|L° D

10°

I"-EE? -27- L‘o

129. The side of a square is 10 cm. If its side is tripled, then by how many times will its perimeter
increase ?

(A) 2 times (B) 4 times (C) 6 times (D) 3 times
OB sHIsDer Lssw 10 QF.f JsaumLW LGSD apey WwLmsIGD GCugl,
SDDTQ| CTSSEGT LOL_EISNS IF&MEGLD ? o
(A) 2 LG (B) 4 w5 (C) 6 g (B3 woLriig 53@3
130. What is the probability of drawing a king or a queen from a deck of 52 cards ? / 9
(A) 2/13 (B) 3/13 (C) 1/13 (D) 8/44 L, —
52—

52 8L Qaer Qanan o FUB6 sL19.a@E5 @UTeT g @oresf
Csin0s®LILsSDESTET FEIpS56 GT6H6T ?
AP) 2/13 (B) 3/13 (C) 1/13 (D) 8/44
Refer to the Pie diagram which depicts monthly budget of a family and answer the following
three questions (131-133).

|oD% N A =TFood
7684 25% B = Conveyance
C = Clothing
E c D = Miscellaneous
e o E = Saving
12% F = House Rent

GOWLUSHeT s eupey GlFweys S L Sagd ST (Hb eLIMIUL SSLI UNTSEaLD.
uegLILL geng Unigg) Lleteuib eweitny Caerallse@rs@d (131-133) aflan_ s@ms.

D il S ohio
S B = Guné@eugss P
15% . x
& aq ap g_onj’ g: o el ! . 30_;‘0 12
GG\W“IE C . D —] @gg @gwalad-r " gt § \'° ©
20% 18% 36§ VO i
A iy’ E = GalLiy R Lo B
& o b2
ya3 @20l F = o Qeun_ens \Te, o 2 Lgds
2.4v
. s S S
131. If total monthly income of the family is Rs. 3,080/- how much amount is spent on conveyance
per month ? :
(A) Rs.400 (B) Rs. 360 (C) Rs. 370 (D) Rs. 325

GG busH Crss wig awLonah e5. 3080 aafld, @@ LIsEHHE
CM@'M aeauarey Glgrens Glewall LiLG@ng ?
(A) e5. 400 B) ¢5. 360 (€Y es. 370 (D) ¢s. 325

=—




'3:]96 = \#9

I:é! -28- 4

132. How much rent is paid by the family per month ?

(A) Rs. 550 (B) Rs. 462 (C) Rs. 430 (D) Rs. 426
2 LW1558HE GGULD ereieuarey oIl (B s QeqssiEing ?
(A) e5. 550 (B es. 462 (C) em. 430 (D) ep. 426
133. How much amount is spent on clothing per month ?
(A) Rs. 530 (B) Rs. 545 (C) Rs. 580 D Rs. 554
2 LISSHDG UDL_Sans eTeleuanay Glgnens GQFewalll_L1 UGEDE ?
(A) 5. 530 (B) ep. 545 (C) em. 580 (D) ep. 554

EYE
Answer the following 2 (134-135) questions based on the bar graph. D%

The given bar graph shows the population of three cities A, B and C in the years 2010, 2015 and 2020.

CaEn@&sOUL L UL e cuengriLLSensty unmiggl, &pauptd 2 (134-135) Caeralls@rs s
aflevL_ e1LpgIs.

Osn@&sLILL B6rer UL oL uenguL 56 2010,2015 wpmyib 2020 e (héSE @5&STET
A, B, C apsimny papriseflen wéasdr Qsmans Gar@ésiul Heres).

ga 3 A
g% 30 } P ;8 30 %
" 2010 " 2015 © 72020

[ 1 s c

134. Which of the following cities registered the greatest % variation in the population from
2010t0 2020 ?

E¥E
(A) A (B) B O}
(C)C (D) BothAand B
2010 mB8 2020 eueny 6165 BEIEH6 Lés6T QsTens D6 gga9s1b Goumyum’19.6b
2 _6Teng).
(A)A (B) B

© C (D) A wpmib B




5 g

135. In which year is the population of city B exceeding that of city A by 20% ?
(A) 2010 (B) 2015
(C) 2020 (D) Both 2015 and 2020

61565 Yeged B pagg@en waser Qsneans, A rsrs@er wasear Ggnasaw ailL,
20% Bsons o dreng) ?

EYE g\’a; .
(A) 2010 (B) 2015 (¢ PR
(€3 2020 (D) 2015 wopmitb 2020 @)rair (G s - 9;‘;’,,“”
F -~
Answer the following 3 (136-138) questions.

In a school, there were five teachers. P and Q were teaching Sanskrit and Maths. R and Q were

teaching Maths and History. S and P were teaching Hindi and Sanskrit. T and Q were teachi?ngx _ sw’*'““a’(’
Geography and Spanish. - ' t' g 1927
- .

BpsaiL 3 (136-138) aflenésené s alenL_weléaayLb. ap - >34 2%
uerafluiley 5 @ Mwiger o ereresi. P wpmib Q G Mwiser FLeVG(BSLD LLHMILD SewTlgLD
spLs@pniser. R wpmib Q @flwisedr saflsd wHmb gy sHLIEEDTisET.
S wpmid P yfAwiser aflES womb swevBGsh sH&EDrisdr. T whmb Q
g FAwiser yalulwed wpmib evGueflay &HL&EDIIsET.

136. Who among the following teacher was teaching less than 2 subjects ?
(A) P (B) R

© S (D) There is no such teacher

168 YFMNFSET 2 LUTL MSEE&EE G@DaIns TH&SDIiseT.

(A) P (B) R
© S (DY T35 YOG @evere
137. Which of the following pair was teaching both Maths and History ?
(A) QandR (B) Qand S (C) Pand Q (D) None of these
a1 @ P Awiser sesfigd HMID UFID LML EISET SDIESDITSET ?
“(AY1Q wpmib R (B) Q wpmpib S Q&g
(C) P opmyb Q. (D) @86 ergiayb @everaw B
138. P and Q were teaching which subjects ?
(A) Sanskrit and Maths (B) History and Hindi
(C) Geography and History (D) Spanish and Sanskrit

P wpmib Q 61685 unL_gens spLia&Gpmiser ?
(AY pios@pst wopih sefisd  (B) ey wppib afsH
(©) yallwed HMLD eugeLAMI (D) evGuesflay pmpib FLWaVE(HSLD




139. Results of class X of a school are given below. Study the table and answer the questions.

140.

Year 1991 | 1992 | 1993 | 1994 | 1995 | 1996
Appeared 198 | 206 | 230 | 212 | 216 | 180
Passed 180 | 197 | 210 | 203 | 194 | 178

In which year was the pass out percentage minimum ?
(A) 1991 (B) 1992 (C) 1993 (D) 1995
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Calculate the speed of the car.
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Time in llours

(A) 40 km/hour (B) 50 km/hour (C) 60 km/hour (D) Cannot be determined
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